
ekè;fed f'k{kk c¨MZ] jktLFkku vtesj 

e‚My ç'u&i=  ijh{kk&2023 

d{kk&12 

fo"k; % lekt'kkL= 

le; % 3 ÄaVk 15 feuV                vad % 80 

1- mn~ns'; gsrq vadHkkj & 

 Ø-
l-a 

mn~ns'; vadHkkj izfr'kr 

1- Kku 24 30% 

2- vocks/k  32 40% 

3- vfHkO;fDr  16 20% 

4- ekSfydrk 08 10% 

;ksx 80 100% 

2- iz'uksa ds izdkjokj vadHkkj & 

 
Ø-
la- 

iz'uksa dk izdkj iz'uksa dh 
la[;k 

vad izfr 
iz'u 

dqy vad 
izfr'kr 

izfr'kr 
iz'uksa dk 

laHkkfor  
le; 

1- oLrqfu"B 18 1x18=18 22.5 36 30 

2- vfry?kwÙkjkRed 12 1x12=12 15 24 35 

3- y?kwÙkjkRed  13 2x13=26 32.5 26 40 

4- nh?kZmRrjh; iz’u  4 3x4=12 15 08 45 

5- fuca/kkRed 3 4x3=12 15 06 45 

 ;ksx 50 80 100 100 195 

3-  fo"k; oLrq dk vadHkkj& 

Ø-l-a fo"k; oLrq vadHkkj izfr'kr 
1 Hkkjrh; lekt dh tulkaf[;fd; lajpuk 7 8.75 

2 lkekftd laLFkk,sa fujarjrk ,oa ifjoZru 6 7.5 

3 cktkj ,d lkekftd laLFkk ds :i esa 6 7.5 

4 lkekftd fo"kerk ,oa cfg"dkj 7 8.75 

5 lkaLd`frd fofo/krk dh pqukSfr;k 7 8.75 

6 lajpukRed ifjoZru 6 7.5 

7 lkaLd`frd ifjorZu 6 7.5 

8 Hkkjrh; yksdra= dh dgkafu;ka 6 7.5 

9 xzkeh.k lekt esa fodkl ,oa ifjorZu 6 7.5 

10 vkS|ksfxd lekt esa ifjorZu vkSj fodkl 6 7.5 

11 Hkwe.Myhdj.k vkSj lkekftd ifjoZru 5 6.25 

12 tulaidZ lk/ku vkSj tulapkj 6 7.5 

13 lkekftd vkanksyu 6 7.5 

 ;¨x 80 100 
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1 Hkkjrh; lekt dh tulkaf[;fd; 
lajpuk     
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2 lkekftd laLFkk,sa fujarjrk ,oa ifjoZru 
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6(3) 

3 cktkj ,d lkekftd laLFkk ds :i esa 
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4 lkekftd fo"kerk ,oa cfg"dkj 1(1) 1(1) 
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5 lkaLd`frd fofo/krk dh pqukSfr;k 1(1) 
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6 lajpukRed ifjoZru 1(1) 
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7 lkaLd`frd ifjorZu 1(1) 
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8 Hkkjrh; yksdra= dh dgkafu;ka 2(2) 
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10 vkS|ksfxd lekt esa ifjorZu vkSj 
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11 Hkwe.Myhdj.k vkSj lkekftd ifjoZru 
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12 tulaidZ lk/ku vkSj tulapkj 1(1) 
       

3(1) 
 

1(1) 
     

1(1) 
   

6(4) 
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  loZ;ksx 12(12) 2(2) 2(1) 
 

8(2) 4(4) 2(2) 10(5) 12(4) 4(1) 1(1) 3(3) 12(6) 
  

1(1) 5(5) 2(1) 
  

80(50) 

  24(17) 32(16) 16(10) 8(7) 80(50) 

   fodYiksa dh ;kstuk %& iz-la- 17 ls 23 rd esa ,d vkarfjd fodYi gS                    uksV%& dks"Bd esa ckgj dh la[;k vadksa dh rFkk Hkhrj iz'uksa dh |ksrd gSA 

   funsZ’k %& iz'u la- 1 esa 12 iz'u] iz'u la- 2 esa 6 iz'u] iz'u la- 3 esa 12 iz'u lekfgr gSaA
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ijh{kkfFkZ;ksa ds fy, lkekU; funZs'k %& 
GENERAL INSTRUCTION TO THE EXAMINEES : 

1- ijh{kkFkhZ loZizFke vius iz'u i= ij ukekad vfuok;Zr% fy[ksaA 
 Candidate must write first his/her Roll No. on the question paper compulsorily. 

2-  lHkh iz'u djus vfuok;Z gSA 
 All the questions are compulasory. 

3- izR;sd iz'u dk mÙkj nh xbZ mÙkj iqfLrdk esa gh fy[ksaA 
 Write the answer to each question in the given answer book only. 

4-  ftu iz'uksa esa vkUrfjd [k.M gS mu lHkh ds mÙkj ,d lkFk gh fy[ksaA  
 For questions having more than one part the answers to those parts are to be written together in continuity. 

5- iz'u i= ds fgUnh ij vaxzsth :ikUrj.k esa fdlh izdkj dh =qfV@ vUrj@fojks/kkHkkl gksus ij fgUnh Hkk"kk ds iz'u  
 dks lgh ekusaA  
 If there is any error/difference/contradiction in Hindi & English version of the question paper, the question of the  
 Hindi version should be treated valid. 
 

[k.M&v 
SECTION-A  

1- fuEufyf[kr iz’uksa ds mÙkj nhft, % 

 Give the answer of following questions : 

 (i) lkekftd vioZtu vFkok cfg"dkj dks lekIr djus ds fy, vko’;d ugha gSA 1 

  ¼v½ ifjoZru          ¼c½ tkx#drk 

  ¼l½ laosnu’khyrk             ¼n½ mPp tkfr;ksa dk fojks/k 

  It is not necessary to end social exclusion or boycott. 

  (A) change                      (B) awareness 

  (C) sensitivity                                 (D) opposition to the upper castes 

 (ii) ,Vd dk iwjk uke D;k gSA  1 

  ¼v½ vkWy bf.M;k jsfM;ks        ¼c½ vkWy bf.M;k VsªM ;wfu;u 

  ¼l½ vkWy bf.M;k Vªªd ;wfu;u   ¼n½ vkWy bf.M;k VsªM Qs;j 

  What is the full name of AITUC? 

  (A) All India Radio                     (B) All India Trade Union Congress 



  (C) All India Truck Union            (D) All India Commette 

 (iii) Hkkjrh; ukxjhdksa dks lwpuk dk vf/kdkj fn;k x;k FkkA 1 

  ¼v½ lu 2003              ¼c½ lu 2004 

  ¼l½ lu 2005                 ¼n½ lu 2006 

  Indian citizens were given the right to information. 

  (a) 2003                                                   (b) year 2004 

  (c) year 2005                                         (d) year 2006 

 (iv) vkS|ksfxd {kj.k D;k gS\  1 

  ¼v½ dqN iqjkus ijEijkxr uxjh; dsUnzksa dk iru 

  ¼c½ mRiknu o fuekZ.k esa fxjkoV vkuk 

  ¼l½ xzkeh.k laxBuksa vkSj dkjkckjksa dk fo?kVu                       

  ¼n½ mi;qZDr lHkh 

  What is  Deindustriliasation? 

  (a) Loss of some old traditional urban centers 

  (b) Low rate of production and manufacturing 

  (c) Loss of village organizations and businesses 

  (d) all of the above 

 (v) n ykftd vkQ DysfDVo ,D’ku ds ys[kd gSaA 1 

  ¼v½ eudj vksYlu    ¼c½ dkyZ ekDlZ 

  ¼l½ bZ ih Fkkelu  ¼n½ nq[kkZbe 

  The  author of The Logic of Collective Action. 

  (A) Mankar Olsen                          (B) Karl Marx 

  (C) EP Thomson                              (D) Durkheim 

 (vi) jkukMs us fdl izFkk dk leFkZu fd;k FkkA 1 

  ¼v½ fo/kok iqufoZokg     ¼c½ lrh izFkk 

  ¼l½ cky&fookg       ¼n½ tkfr&izFkk 

  Which practice was supported by Ranade. 

  (A) Widow remarriage             (B) Sati system 

  (C) Child marriage                        (D) Caste system 

 (vii) fpidks vkanksyu dh 'kq#vkr fdl jkT; ls gqbZ FkhA 1 

  ¼v½ jktLFkku         ¼c½ mÙkjk[k.M 

  ¼l½ mÙkjizns’k          ¼n½ e/;izns’k 

  From which state did the Chipko movement start? 



  (A) Rajasthan                                  (B) Uttarakhand 

  (C) Uttar Pradesh                          (D) Madhya Pradesh 

 (viii) Hkkjrh; df̀"k eq[; :i ls fuHkZj djrh gSA 1 

  ¼v½ d`f"k etnwj ij   ¼c½ ekulwu ij 

  ¼l½ tehu ds ekfyd ij      ¼n½ mijksDr lHkh 

  Indian agriculture mainly depends on 

  (A) agricultural labor              (B) monsoon 

  (C) the owner of the land     (D) all of the above 

 (ix) O;kikj] ;krk;kr ,oa foÙkh; lsok,a bR;kfn m|ksx ds fdl {ks= ds varxZr vkrs gSA 1 

  ¼v½ izkFkfed {ks=            ¼c½ f}rh;d {ks= 

  ¼l½ rr̀h;d {ks=               ¼n½ mi;qZDr esa ls dksbZ ugha 

  Trade, transport and financial services etc. come under which sector of  the industry? 

  (A) Primary Sector                (B) Secondary Sector 

  (C) Tertiary sector                          (D) None of the above 

 (x) fofuos'k ls ljdkjh deZpkfj;ksa dks D;k Hk; gSA 1 

  ¼v½ T;knk [kpZ djus dk   ¼c½ de [kpZ gksus dk 

  ¼l½ ukSdjh [kksus dk            ¼n½ osru dVkSrh gksus dk 

  What are the fears of government employees due to disinvestment? 

  (A) spend more         (B) spend less 

  (C) job loss (D) salary cut 

 (xi) fuEu esa ls tulaidZ ds lk/ku dkSu&ls gSA 1 

  ¼v½ lekpkj &i=            ¼c½ if=dk,a 

  ¼l½ jsfM+;ks ¼n½ mi;qZDr lHkh 

  Which of the following are the means of public relations. 

  (A) Newspapers            (B) Magazines 

  (C) Radio (D) All of the above 

 (xii) fuEu esa ls lkekftd vkanksyu ds fojks/k dk lk/ku dkSu&lk gSA 1 

  ¼v½ eksecÙkh tykuk        ¼c½ dkys diM+s dk iz;ksx 

  ¼l½ uqd~dM+ ukVd             ¼n½ mi;qZDr lHkh 

  Which of the following is a means of protest against a social movement? 

  (A) lighting a candle        (B) using black cloth 

  (C) street plays              (D) all of the above 

 



2- fuEufyf[kr iz’uksa esa fjDr LFkkuksa dh iwfrZ dhft, % 

 Fill in the blanks in the following questions : 

 (i) dsljh lekpkj i= ------------------------------------------------------ Hkk"kk esa izdkf’kr gqvkA 1 

  Kesari Newspaper  Published in……… language. 

 (ii) phu dh -------------------------------------- ikVhZ us phuh Økafr dk usrR̀o fd;kA 1 

  The Chinese Revolution was led by the ……………. party of China. 

 (iii) MseksxzkQh 'kCn ;wukuh Hkk"kk ds nks 'kCnksa ------------------------------- vkSj ------------------------------- feydj cuk gSA 1 

  The word Demography is derived from two Greek words ……………………… and ……….  
  ................................. is made up of. 

 (iv) Hkkjr esa yxHkx ------------------------- fHkUu&fHkUu Hkk"kk,a vkSj cksfy;ka cksyh tkrh gSA 1 

  Various languages and dialects in India about ……………. is spoken. 

 (v) laLd`frdj.k dh vo/kkj.kk ------------------------------ us izLrqr dh gSS+A 1 

  The concept of sanskritisation has been introduced by ……………. 

 (vi) iapk;rh jkt laLFkk esa ------------------------------------------------ Lrjh; O;oLFkk gSA 1 

  In Panchayati Raj Institution There is a .................................. layer system. 

3- fuEufyf[kr iz’uksa ds mÙkj nhft, % 

 Give the answer of following questions : 

 (i) Hkkjr dh nks tutkfr;ksa ds uke crkb;sA 1 

  Name two tribes of India. 

 (ii) VªkaltsaMj D;k gS \  1 

  What is Transgender? 

 (iii) v{kerk ds nks y{k.k crkb;sA  1 

  State two symptoms of disability. 

 (iv) ijlaLd`frdj.k D;k gSA  1 

  What is reculturalization. 

 (v) vkS|ksfxdhdj.k dk lkekftd thou ij D;k izHkko iM+rk gSA 1 

  What is the impact of industrialization on social life. 

 (vi) if’pehdj.k ds nks izHkko crkb;sA  1 

  State two effects of westernisation. 

 (vii) fgr lewg dk vFkZ crkb;sA  1 

  Give the meaning of  interest group. 

  Hkkjrh; lafo/kku ds nks ekSfyd vf/kdkjh fyf[k,A 1 

  Write two fundamental right of the Indian Constitution. 



 (viii) izkFkfed {ks= esa dkSu&dkSu ls dk;Z vkrs gSA  1 

  What are the tasks in the primary sector. 

 (ix)  [kkuksa esa dke djus okyksa ds nks lqj{kk ds mik; fyf[k,A  1 

  Write two safety measures for the workers of mines. 

 (x) fFku ,;j fctusl D;k gS \   1 

  What is Thin Air Business? 

 (xi) ikjjk"Vªh; Vsyhfotu daifu;ksa us fdl izdkj vius vkidks Hkkjrh; n’kZdksa ds vuq:i <ky fy;k  
  gSA   1 

  How International television companies have adapted themselves to the Indian audience. 

 

[k.M&c 

SECTION-B 

4- /keZfujis{krk dk D;k rkRi;Z gS \    2 

 What is meant by secularism? 

5- lkaLd`frd fofo/krk ls dkSu&dkSulh pqukSfr;ksa mRiUu gksrh gSA                             1$1¾2 

 What are the challenges arising from cultural diversity. 

6- mifuos’kokn dk gekjs thou fdl izdkj izHkko iM+k gSA  2 

 How has colonialism affected our lives. 

7- vkS|ksfxdj.k vkSj uxjhdj.k esa ijLij lEcU/k crk,A 1$1¾2 

 Explain the relationship between industrialization and urbanization. 

8- iapk;rksa dh 'kfDr;kWa o mRrjnkf;Ro fyf[k,A 1$1¾2 

 Write the powers and responsibilities of Panchayats. 

9- Lkafonk [ksrh ds ykHk crkb;sA   2 

 Explain the advantages of contract farming. 

10- laxfBr {ks= dh fo’ks"krk,a crkb;sA  1$1¾2 

 Explain the characteristics of organized sector. 

11- foÙk ds Hkwe.Myhdj.k ds D;k ykHk gSA   2 

 What are the benefits of globalization of finance. 

12- laLd`fr ds nks :i dkSuls gS] le>kb;sA  1$1¾2 

 Explain what are the two forms of culture. 

13- Lkkekftd vkanksyu ds izdkj crkb;sA  1$1¾2 

 Mention the types of social movement. 

 



14- Hkkjr esa jk"Vªh; tula[;k uhfr ds nks mÌs’; crkb;sA 1$1¾2 

 State two objectives of National Population Policy in India. 

15- ifjokj dh pkj fo’ks"krk,a fyf[k,A   2 

 Write four characteristics of family. 

16- i.;hdj.k ds dksbZ nks mnkgj.k nhft,A  1$1¾2 

 Give any two examples of Commoditisation. 

 

[k.M&l 

SECTION-C 

17- Hkkjr esa tutkfr;ka dk oxhZdj.k fdl izdkj fd;k x;k gSA 1$2¾3 

 How are tribes classified in India? 

18- lkekftd vioZtu dh fo’ks"krk,a crkb;sA   3 

 State the characteristics of social exclusion. 

19- tulapkj fdls dgrs gS] blds izeq[k ek/;e dkSu&dkSuls gSA 1$2¾3 

 What is called mass communication, what are its main mediums. 

20- gfjr Økafr ds rhu&rhu ldkjkRed o udkjkRed izHkko crkb;sA 1$1$1¾3 

 Mention three positive and negative effects of Green Revolution. 

 

[k.M&n 

SECTION-D 

21- tulkaf[;dh laca/kh izeq[k fl)karksa dks le>kb;sA 2$2¾4 

 Explain the main Theories related to demographics. 

vFkok@OR 

 Hkkjr esa tula[;k òf) ds izeq[k dkj.kksa dh foospuk dhft,A 2$2¾4 

 Discuss the main factors of population growth in India. 

22- Hkwe.Myhdj.k ls D;k rkRi;Z gS] bldh izeq[k fo’ks"krk,a crkb;sA 2$2¾4 

 What is meant by globalization, Explain its main features. 

vFkok@OR 

 mnkjhdj.k dk vFkZ D;k gS] blds ykHk ,oa gkfu;ka dh foospuk dhft,A 

 What is the meaning of liberalization, discuss its advantages and disadvantages. 

23- laLd`frdj.k dh ifjHkk"kk nsrs gq, bldh vkykspukRed vo/kkj.kk dk le>kb;sA 1$3¾4 

 Giving the definition of sanskritisation, its critical concept. 

vFkok@OR 

 lkekftd ifjorZu ds fofHkUu izdkjksa dh foospuk dhft,A 

 Discuss the different types of social change. 


